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Classify each triangle by its side lengths. G H
(Note: Some triangles may belong to more than one class.) ’
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Lard 2

Classify each triangle by its angle measures.
(Note: Some triangles may belong to
more than one class.)
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Find the side lengths in the triangle.
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Find the side lengths in the triangle.
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Lard 5

Isosceles AGHI has GH =Gl . GH=x? Gl =-2x+ 15, and Hl = —x + 4.
Find the side lengths.
vy ’)62= —AX 5
X*+2x -5 =0
(x+2)x-3) =0
X+o=0 ¥X-3=0
K=-5 X=3
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Lard 6

Find the value of x, then find the measure of each angle.

(7x - 13)°

20U +2 =207
2x + 21°

4U4)+9 = b5’
g axror

Tx=\3 4 4X+g + 2%32 = 180
\3x -2 =80
\2x =182

X =14
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Find the m<D.
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Lard 8

Find the m<M and m<Q.
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Find the m<T and m<R.

e Mangles are, b?{ Ak
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Lard 10

Given: ACDE = AHIJ, DE=9x, and IJ=7x + 3. Find x and DE.

A =Fx+3  De= ‘7(%>=%=¢a,e
2% =3
X=3
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Given: ACDE = AHIJ, mzZD = (5y + 1) °, and m£/ = (6y — 25) °.
Find y and m£D.

By = oy -2 MeD = 5 (2W)+| = 13)|°
l=%~2k’>
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Lard 12

Name the three pairs of corresponding sides.

Name the three pairs of corresponding angles.
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Write which of the SSS or SAS postulates, if either, can be used to prove the
triangles congruent. If no triangles can be proved congruent, write neither.
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Card 14

Write which postulate, if any, can be used to prove the pair of
triangles congruent.
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Draw a square with a side length of 4 units in the coordinate plane.
Label the coordinates of each vertex.

1. Center one side at the origin (C, 0}).

2. Use the origin as a corner.
Lo I )
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—¢ (4,4)

mzX=_ 45’
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Dﬂa N*= 3+
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4+ 18
N2-2-(§ =0
(N-vXN+3)=0 ol
N-=0 N+3=0
PQ= 9 or 20 N=b nNn=-3
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Lard 18

Write a coordinate proof.

Given: Rectangle ABCD
with A(O, 0), B(4, 0),
C(4, 10), and D(0, 10)

Prove: The diagonals
T didammals

bisect each other. (%mm oL F)
DM = | (0-2)*+(10-5)*= \J(~a)2+65)2=\ﬁ"1_
BN = | (4-2)*+ (0-5) =@+ (5 29
= J (-2 + (007 = (@3- {4
AL = { (0-2)"* (0-)2 = J (2% (97 24
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5 < T
WL+ 320+ 3.20 =\80
&N =1(80

n =10
n=__10
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